SSC CHSL 2022-23

LR  =zftwrar y #15

HETMOCK TEST O &
TARGET 50/50 7
(3TIPBI IR CHSL UR) &

@) | 07:30 PM BY NITIN MAHENDRAS




SSC CHSL 2022-23

STUDENT’S CORNER

S Vishnu Gupta 20 hours ago
A- Fraud

Very nice session sir thank you

e 2 5P Reply e 1 SN Repl

- "“"5; - 1 reply

o

Subhamoy Ghosh 21 hours ago
A Fraud

o

F=) - 1 reply

e

Mishtha Shukla 19 hours ago

Ajdshika Ghosh 20 hours ago
Homework Answer

@

OPT.- A Option A
I‘ 1 ."_E_/EI Reply Thank you so much nitin bhaiya J. &
- (7= = 1 reply T "L Reply
~ (=) . 1reply
0 Faroogqui..... 8 hours ago
Option & . anu sharma 20 hours ago
I‘ 1 'r—.:_/D Reply Option a
e ' G Reply
Prachina Bastia 18 hours ago —
A ~ (=)« 1 reply
1 QJ] Repl
e Py a Puspranjan singh 20 hours ago
- :“‘5-} - 1 reply A
e ' G Reply
a Rituparna Biswas 21 hours ago —
; option a: w (7=« 1reply









SSC CHSL 2022-23

Q1. As a person who believes (1)/ that
honesty is the best policy (2)/ I feel that

politics are not my cup of tea. (3)/ No error

4

Ans: (3) is will replace are because — Politics is a
Singular Subject and it will agree with a

Singular Verb.
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Q2. Though the police tried all sorts of
methods to illicit (1)/ information from the
public (2)/ they remained silent. (3)/ No error

4

(1) elicit will replace illicit elicit (Verb) : to get
information or a reaction from somebody, often
with difficulty illicit (Adj) : not allowed by law;
illegal
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Q3. Neither of the two (1)/ candidates have
(2)/ paid his subscription. (3) No error (4)

Ans: (2) either of/neither of agree
with Singular Verb.
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Q4. I am really disappointed (1)/ in not
having saw my friends (2)/ while I was in
New Delhi on vacation this summer. (3)/ No

error (4)

Ans: (2) in not having seen will
replace in not having saw

disappointed



SSC CHSL 2022-23

Q5. The company have (1)/ thousands of
customers (2)/ happy with its service.
(3)/ No error (4)

(1) has will replace have because — The
Company (Singular Subject)
agrees with Singular Verb.
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Q6. They are residing (1)/ in this city (2)/
for the last two decades. (3)/ No error (4)

Ans: (1) have been residing will

replace are residing.
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Q7. Each one of you (1)/ must make up
their mind (2)/ as I did. (3)/ No error (4).

Ans: (2) your will replace their
because — your is the Possessive
Case of you
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Q8. During the last few years (1)/ the
company works hard (2)/ to modernise its
image. (3)/ No error (4).

Ans: (2) worked will replace work.
The sentence indicates a Past

action.
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Q9. In India (1)/ working woman lead a life
of dual responsibilities (2)/ if they are
married and have a family.(3)/No error (4).

Ans: (2) women will replace woman
because — the sentence indicates

a sense about many women.
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Q10. They have (1)/ played a game (2)/
last week. (3)/ No error (4).

Ans: (1) Use of have is not correct
because the sentence is in Past
Tense.
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Central Park Tower has just become the tallest
residential building in the world. The views (1)
this building are amazing. The (2) of
apartments in this skyscraper are (3) as the
sky. The cheapest apartment (4) at $6.7 million,
and the most (5) five-bedroom apartment costs
$63 million.
Choose the most appropriate word for blank (1).

1.above 2.up 3.from 4.o0n
Answer: (3)
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Central Park Tower has just become the tallest
residential building in the world. The views (1)
this building are amazing. The (2) of
apartments in this skyscraper are (3) as the
sky. The cheapest apartment (4) at $6.7 million,
and the most (3) five-bedroom apartment costs
$63 million.
Choose the most appropriate word for blank (2).

1. price 2.bills 3. amounts 4. values
Answer: (1)




SSC CHSL 2022-23

Central Park Tower has just become the tallest

residential building in the world. The views (1)

this building are amazing. The (2) of
apartments in this skyscraper are (3) as the
sky. The cheapest apartment (4) at $6.7
million, and the most (5) five-bedroom

apartment costs $63 million.
Choose the most appropriate word for blank (3).

1. as high 2. high 3. higher 4. highest
Answer: (1)
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Central Park Tower has just become the tallest

residential building in the world. The views (1)

this building are amazing. The (2) of
apartments in this skyscraper are (3) as the
sky. The cheapest apartment (4) at $6.7
million, and the most (5) five-bedroom

apartment costs $63 million.
Choose the most appropriate word for blank (4).

1. start 2.started 3.starts 4. is starting
Answer: (3)
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Central Park Tower has just become the tallest
residential building in the world. The views (1)
this building are amazing. The (2) of apartments
in this skyscraper are (3) as the sky. The cheapest
apartment (4) at $6.7 million, and the most
(5) five-bedroom apartment costs $63 million.

Choose the most appropriate word for blank (5).

1. extreme 2. economical 3. expensive 4. Excessive

Answer: (3)
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Q16. The man for the purpose

never did what was expected of him.
(a) supplied
(b) favoured
(c) employed
(d) cited

Ans.(c) Sol. Employ: give work to
(someone) and pay them for it.
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Q17. The bank decided to them
the money as they were reliable clients.

(a) let

(b) lend
(c) borrow
(d) lease

(b) lend
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Q18. We prefer to work with a

comparatively number of

clients.

(a) smaller
(b) fewer
(c) small
Sd) lesser

ns.(c) Sol. ‘Comparatively + Positive Degree of

Adjective’ is the correct grammatical

usage.
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Q19. The school project will

a great deal of research.

(a) entail

(b) extract
(c¢) exhume
(d) endear

Ans.(a) Sol. Entail: involve (something) as a
necessary
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20. Leopards have learned to to semi-

urban living near Mumbai and
Gurugram.
1 adapt
2 adopt
3 change

4 prepare
Solution : 1 Adapt — to make necessary
changes to be able to survive in an

environment
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21. She kept her clothes neatly

arranged in the

1 warchouse
2 wardrobe
3 larder

4 godown

Solution : 2 Wardrobe - dresser , closet
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22. The appears to be rather

rough today for the ships to sail.
1 environment
2 climate

3 atmosphere

4 weather

Solution : 4
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23. The man heavy losses in his

investments.

1 raised
2 reaped
3 earned

4 incurred

Solution : 4
Incur — to occur
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24. You are well prepared to handle the
responsibilities bestowed you.
1. at
2. for
3.t0

4. upon

Solution : 4
Bestow is followed by preposition ‘upon’.
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25. Do not meddle the affairs of others.

1. from

2.1n
3. to
4. at

Solution : 2
‘meddle ¢ is followed by preposition ‘in’



SSC CHSL 2022-23

26. We haven’t been to Mumbai
almost ten years.

1.for

2. from

3. to

4. since

Solution : 1
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2’]. Please don’t disturb me. I to

solve a sum.

1. am trying
2. try
3. have tried

4. tried

Solution : 1
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28. I who your friend and well-

wisher, should have been informed
about your decision.
1. be
2.am
3.1s

4. are

Solution : 2
‘Am’ will be used for the subject ‘I’.
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In spite of the high sounding words, his

speech fell flat on the audience.

1. failed to make an impact

2. impressed a lot

3. appealed to the sentiments of the audience

4. could not be heard clearly




SSC CHSL 2022-23

0

Home Work Answer

—/

In about 10 days, the I-T act has

detected about a half-a-dozen serious

cases of evasion and
a) Fraud b) Failure

¢) Bravery d) Amazement
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